The Black Hole – A Physics Restart By LF Morgan

Why Black Holes are not formed by collapsing star systems
The visible universe is an infinitely-nested 3-D paisley of gravity fields, where the fields of the atom and molecule harmonically grow and decay –to assemble, maintain and disassemble all that science directly observes and measures. Not directly seen by atom-made (visible) existence is an underlying dark matter existence that is infinitely larger and completely immerses visible matter to fill all 3-D-imaginable space. Fluid dark matter filling all space, immersion-hosts bulk visible matter at the solar system/ galactic level, by continually circulating and granulating per Universal Harmony (UH)--here given clear descriptive expression.

UH ensures that the dark matter center of every gravity field cannot support bulk visible matter in any form, but rather be of greatest possible mass, energy and force manifestation–here called a black hole. The black hole (BH) centers every nested gravity field from electron, to atom, to molecule, to planet Earth, to Solar System, to Milky Way galaxy, to Local Galactic Group, to Super-galaxy to Local Cosmos. The central BH constantly stirs fine grain dark matter to give it spherical concentric-shell structure for the discrete-speed-size orbiting of dark (and regionally hosted visible matter) in a synchronous-orbit, continually granulizing way.

BH-driven concentric shell structures of the atomic gravity field, alternately host and release circular orbit electrons in astronomical  numbers to: 1) provide binding energy for all bulk matter, including black holes, and 2) extrude visible light as electron energy across intergalactic space to touch star-seeing eyes and 3) Routinely mark their vibratory energy state. To help accept that electrons as radiation are absorbed by gravity field black hole centers and serve to 2-D and 3-D bind concentric growth/decay proton and neutron shells, simply ask, “where do all the electrons go that must steadily fall under gravity toward the center of the field, to be captured there temporarily or otherwise? One shows here that the BH center of every field absorbs and releases electrons in truly huge numbers to mark its energy state and continually grow/decay it’s size as a dual mode electromagnetic and gravity energy exchange process per an ongoing, two way E = Mc2.

Let your causally constrained mind’s eye see electrons build a growth/decay neutron spherical shell, as radial extension of an existing strong force bound solid core black hole--by first forming volatile proton shells that convert from 2-D circular-orbit electron fully populated to 3-D fully populated which adds in-out orbiting electrons. It is here suggested that a periodic table type build up of molecular substance variations is the first order effect of the black hole theory of matter that is here proposed. Since most researchers today do not know what a causally constrained mind’s eye is, one tries mightily to explain, then gives an enumerated litany of what the atomic black hole is dynamically made of that bulk matter hosted gravity fields tends to crudely replicate at their own size regime level. 

Constraints on imagination for “feel-able” Mind’s Eye “Seeing of physics truth”

The above theory summary is not easily followed, and one hopes the reader will gist and iterate as often as necessary. Physics currently is the mess that John Archibald Wheeler and Richard Feynman felt it to be. The “detailed mechanics visualization by the mind’s eye” style of viewing the universe used by the Early Einstein, later escaped both him and many notable others, as theory fell into the hands of elite mathematicians. The clear intent was to have his “continuous field” be causally deterministic all the way. It clearly did not make it in the direction of small which caused quantum theory to arise, as Einstein said, as a temporary fix. So where did Einstein go wrong? One found it in his plain language paper on his theory as published in the special Laureate Edition of Scientific American in April 1950.

In order to let complex-abstract math properly mimic the laws of physics in a covariant way under all transformations of coordinates, the discrete material point as seen by Einstein had to be made math-malleable by allowing a space-time interval of “nothing” around it so that the mathematical equations could motivate that gap to polarize material points in away that allowed inference technique math operation---so as to always curve-fitting-satisfy the known laws of physics for experiment control and prediction purposes. In math-warping “space-time”, material points became disconnected singularities, yet predicted with amazing accuracy by statistical inference in the middle size, normal experimental ranges of physical reality. But Einstein’s theory falls apart in terms of mechanics at the single event level of small, and at the total universe level.
One here resurrects the Early Einstein constraints on imagination-- his mind’s eye seeing that had it almost figured out. The Later Einstein of GRT fame, re-visited his early self briefly, to conceive a cosmological constant that would fix the theory, but it did not work out. One will show here that there is a much better fix that the Early Einstein could have done by seeing E = Mc2 as an ongoing AC Mode operation involving black hole emission and absorption of huge numbers of electrons.

Einstein’s general relativity theory (GRT) is about “space curvature”, which he ultimately designated with the letter, G, in his famous field equation. G = 8πT, where T is the Stress Tensor. The author has very deliberately re-used the G here as the radial size of Higgs particle average replacement sphere. One will here show that the outer boundary of the Solar System (SS) gravity field black hole has a Higgs particle size equal to Planck’s constant, h, in centimeters! Further, the radius of the SS black hole, R, is fixed at one centimeter! Why such anthropic magic? Because 1) the SS is our rotational center of reference, and the centimeter, gram, second, cgs system of units of measure were used to designate the gram unit of mass; 2) the  field equation requires there be some limiting tight curvature (small G) of space near the center of a gravity field to mark maximum density; 3) unity is always the best beginning of a self-made ruler.

What is meant by “Anthropic magic”? One sees a self-defining characteristic for all visible matter and its constructs, including the collective human thought process. All atoms and humans are indeed self-defining, meaningfully self-assembling in real time, with a predictable decay (half life) over a measurable period of time. Along with these physics-indisputable facts, add that atom-made bulk matter is only capable of directly experiencing a certain rather miniscule size regime out of the infinity of sizes of dark matter material points---for a reality “out there” that has to exist before and after we & atoms come and go as mortal beings. Size & touching motions really matter most pervasively, making observation and measurement feel very anthropic, or is here just for us else we could not exist.

One feels and describes a genuine sense of universal harmony (UH) just for us.

The speed of rotation and one-way in-out vibration movement of a surface of a space-time volume of radius R is here assigned a variable, v. The felt underlying universal harmony (UH) dictates that R/G always, every where in the given gravity field be numerically equal to the 3-axis energy of R,  3v2, AND also be numerically equal to the square root of any mass attributed to the surface of R---making mass numerically equal to the square of energy. The size of the black hole of the gravity field determines it’s felt sense of unity of increasing material point size discreteness as one goes outward in the field.  That is, you cannot get a mind-boggling infinity of rational numbers between zero and one, or between 1 and 2, and so forth. The scaling of the field from central BH to outer edge must go discretely by “shell” number, where the 1st “proton” shell around the BH of a given gravity field hosts electrons just like inside the atom! The central black hole of the atom results in the abandonment of the Bohr nuclear model as too mind’s eye unfriendly. 

So one’s imagination, constrained by the mechanical visualization of universal harmony, begins with Einstein’s very perceptive curvature idea but labors mightily to finish its many implications right, including finding the correct, very dynamic  form of “cosmological constant”!

For every discretely shell-structured gravity field, the maximally spinning BH at the center UH-stirs the fine grain dark matter so as to structure the circulating dark matter field-- as a series of touching concentric shells that are rotating and are fully packed by R/G mass point two-sets as causal math points that discretely scale the field. The finite radius, maximum density BH functions as the causal central math point of the field where coordinate axes must meet. As one goes outward along a given radial, the R/G two-set shell size follows a logarithmic growth spiral fractal in setting the R-depth of the shell and the G-depth of the spinning surface of each R.

The UH and BH driven discreteness as opposed to a “continuous field”, corrects Einstein’s GRT space warping mistake! He assumed matter was discrete and that a “continuous” field, meant an interval of “nothing” was needed around each material point so that his advanced math had something to grab on to. That is, math convenience came at the cost of causal mind’s eye seeing at the material point level. 

Discrete shell structure of the field was really always there, while existing workable law compatibly space warped it to enforce an inference technique, curve fitting calibration. As long as the numbers of things were statistically large enough to mathematically fake the truth, the warping held.  But no “average” thus obtained ever size-motion fits mechanically detailed physical reality as it exists “locally”, or non-locally (holistically nested whole universe). Einstein’s theory cannot predict at the ends of big and small, while the discrete model described here can and says “forget Big Bang and Big Crunch at the “universe” level”, and vague “charge” in the direction of small!

For maximum density at the outer surface of a maximally spinning black hole, UH says R/G numerically equals 1/h. So find the typical atomic black hole center, knowing that it needs to be close to the measured value of 10-13 cm. It works out that if R  ≈ 10-14 cm, is a growth-decay black hole that gets bigger (grows) as you go up the periodic table , then the average radius for the typical atom is a roughly ten times bigger at 10-13 cm. Then if you let the top of the periodic table be a unit mass atom whose radius is equal to Newton’s constant, you have the right discrete scaling of the visibly nested gravity field universe--using the atom as fundamental building block. You also see that Newton’s famous constant fell out as his calibration of how gravity force is structured with inverse distance squared from the field center –to yield just the right radius for a largest, unit mass atom!

With R = 10-14 and R/G at 1/h at the atomic black hole, G ≈ 10-40, the difference in curvature needed to match the difference in gravity force between the light tangible surface of the Earth and the light tangible surface of the atom, using Newton’s force law, but changing the gravity constant G, from 10-8 cm to 10-40cm. Newton’s G, as Einstein sublimely or otherwise derived, was the same as his G, and is here said to be the G-size Higgs dark matter particle average radius! This multiple-theory serendipity about G, is due to the isomorphic (same everywhere) reflective symmetry of UH regarding the sensing of atom-made energy and mass by atom-made cognizance. The snake intimately experiencing it’s own tail here is real! Get it here, and try to get use to it, please! In his own space warping way, Early Einstein did in spades.

Newton’s gravity law let an immeasurable volume-mass, as opposed to more easily measurable surface mass, fake the required change in G. Then G as fell out of crude but calibrating experiment, could be the constant radius of the unit mass atom, and volume mass could then be the number of unit mass atoms said to be making up the visible surface-indicated volume of the matter object involved. 
Let the atom host big numbers of electrons in its gravity field shell structure that alternate in and out to mark its energy state and serve to bind the interiors of black holes, and atoms into molecules, and molecules into substances. And for reasons of irresistible symmetry, let the circular orbit electron mass be equal to h grams. Then Planck’s constant, h, numerically represents both quantum energy, mass and force in a truly unified field.

The unified field is both continuous for no force at a distance purposes in a fluid gear-locked manner, yet discrete in terms the R/G two-set of UH, whose concentric shell-structure increments by R/G mass pt Two-Set Depth, based on the black hole as minimum size causal math pt for that field. For the visible matter hosting fields from SS to local cosmos, the causal math point = central material point of the field and black hole, goes from unity at the SS in terms of one centimeter, to 1/h ≈ 1026 cm for the BH radius of the local cosmos, where the Higgs particle size is G = 1 cm.

The simplified space curvature field equation is G = 1/T’, where new dimensional homogeneity says that G is the local, single quantum-level space distance per quantum energy passage.  That is, G must be the inverse of quantum force where mass is no longer a dimension so that the dimensions of T’ must be erg/cm, or quantum energy passage per unit of distance. T’ acts as quantum force at the given location in space. The range of G, as experienced by atoms, goes from 1040 cm per quantum at the cosmos outer boundary for visible matter hosting, to 10-40 cm per quantum at the outer boundary of the atomic black hole. Since energy at the electron level of 1/h quantum is used to establish energy measure in erg units, we can multiply by 1/h to get electron level force per unit of local distance and call it inverse local space curvature for the passage of an electron.  Space curvature in terms of electron passage as light, gives a space-closing, limited range of G.

Going to the quantum level by mechanically phony math is not useful for practical experience purposes, but is infinitely useful for keeping everybody in the dark about real physics at the ends of big and small! Depend on UH as the serendipity of God to let you feel, and not measure, the quantum level in your new mind’s eye driven guts. 

One concludes that the symmetry of the mind’s eye seeing constraint’s as contextually defined here, is the only way to see final truth as it was meant to be seen by human collective consciousness. The eye at the top of the pyramid of knowledge on the back of every US dollar bill, allows the Poet Virgil (70-90 BC) to broadcast an “Epiphany of Truth” to the modern world. That unnamed human collective eye, as constrained by universal harmony (UH) as a benevolent friction-minimizing sense of God, determines scientific truth as structured by a never-quite-finished, living-always-learning, pyramid of knowledge. Look at it long --the next time you have a dollar bill in your hand.

Mind’s eye seeing from the top of the pyramid is here constrained as follows:

1) Mass is not a dimension and must be treated as a gravity field visible outer boundary count of G-size Higgs making up the replacement sphere of the field as observed.  Re-defined dimensional homogeneity begins the physics restart.

 2) We are not at liberty to scale every field the same along a triad of axes centered in the field.  One uses a logarithmic growth spiral fractal to increment the individual concentric shell depths that form the spherically symmetric field-structure, from its visible outer boundary shell to the outer shell surface of the central black hole.

 3) The black hole is an “observer-size-relative” maximum density that has a variable radius that causally scales the entire field outward.

 4) The outer boundary of a circulating dark matter field extends well beyond the stably-orbiting visible matter in it—now verified by Hubble telescope data.

 5) Visible matter cannot orbit at a speed of c. Binding electrons, including those of each atom, would be stripped and the object will not exist. The circulating field structure is free of bulk matter internal to its own c-boundary shell, within which dark matter orbits at a speed greater than c! The black hole is rich with strong force binding electrons as photons, some of which routinely go to and come from any bulk visible matter in its field to mark overall energy state.

6) Relativistic mass is false and all visible matter in stable orbit is being gravity force pushed by immersing, circulating dark matter to cause stable orbit; thus moving visible matter always feels force acting on it at the atomic level, whether in stable orbit or not. Mass and acceleration are not equivalent; but measured one axis speed of energy travel, v, is equivalent to acceleration because there is no stopping, starting or averaging involved at the local and nonlocal measured levels. 

Number 6) above means that Louis de Brogalie’s wave nature of the photon needs more careful analysis. E = Mc2 cannot be properly equated to the Planck energy of a photon, unless the photon and electron are the same thing and are assigned a mass equal to h, to both have energy, hf. That is, E = hc2 = hf for both--because the vibration frequency of light in open space is c2.  Wavelength, λ = 2πR, and 2πRf = λf = v. If we also let f = vibration back and forth frequency of the electron and equal to its one way speed squared, or f = v2, then the de Brogalie hypothesis, λ = h/mv for the electron as wave becomes λ = h/mv = h/hv =  1/v =2πR = v/f = v/v2 = 1/v. This is proof of the dynamic pre-geometry of space-time, whereby the R-size of the field shell structure changes, re-granulates, so that its perimeter, 2πR, multiplied by linear speed of energy transfer (as acceleration- pulsing through it), is equal to unity! This R and G size changing aliveness of space is driven by UH such that distance is meaningful only as observer-traced by pulsing electron energy transfer. One divided by the square root of measured frequency tells the wavelength (perimeter size) of the source.
Bohr should not have used de Brogalie’s improperly constrained imagination to falsely model the atom. No one should have bought the “masslessness” of the photon. The photon and the electron are most vitally the same item, and all can be most thankful in retrospect for de Brogalie’s crucial hint. Light is electron radiation regardless of the medium of transmission, and corpuscular--wavy as Newton correctly but too vaguely observed. The visible energy transmission property of space is a live-medium index of fluid viscosity for electron travel as radiation-- ultimately binding and unbinding the outer shells of growth/decay, ubiquitous black holes in universal vibratory synchronicity. Black hole stirred, all pervasive dark matter, automatically granulates in this anthropic “data-creating” manner --instantaneous to us-- to make it all so. 

This theory shows electron energy transport is by vibration differential so that the notion of charge is dismissed. Groups of atoms are then seen alternating electrons across open space, or within closed circuit wire conductors, such that the speed of current corresponds to the speed of back and forth vibration where each alternating (measured frequency pulsing) cycle results in the deposit of one electron from the negative terminal or atom-group source to the positive terminal or the atom-group sink. Our instruments measure using molecule sized absorption and emission resonators and Bohr’s Z-electron orbit wiggles inside the atom have nothing to do with wavelength except to mimic the required inference technique problematics.

The 137 fine structure constant mystery is resolved by multiplying the typical atomic radius by it to get radiating average molecule size! Taking Hubble redshift out of the equation is thus a big help for the proper Mind’s Eye,  as the super heated molecules of a star’s surface are seen as wrongly translated when the electron energy-as light reaches the much less heated, smaller, molecules here at the surface of the Earth.  The apparent double dipping of redshift is then easily explained also. The real fine structure constant is really “unity”-- as a proper dimensionless constant should be, and the latest QED concepts involving it thus instantly lose their appeal! 

This can all be visually reconciled by seeing that a one second pulse of light in open space will oscillate at a speed going both back and forth without starting or stopping at constant speed of v. Again for emphasis, it is acceleration and speed that are equivalent for the transfer of energy in space, not mass and acceleration! Mass, cannot be interchanged with acceleration and obtain the correct mechanics for the passage of energy through any space-time medium.

The momentum of a particle of mass, m, traveling from atom source to atom sink at speed, v, at whatever frequency for a given medium of transfer, happens so that vibration frequency, f = v2-- because it is the back and forth differential transfer of electrons that causes the measured pulsing of Planck’s constant, h, worth of energy that is the standard vibration bump (like pushing a child in a swing) that does the moving of a helical string electron that is comprised of one perimeter (wavelength) of the emitting molecule or atom. That is, the R value is the average vibration value of the emitting and/or absorbing molecule or atom; where contrary to Bohr and de Brogalie, average back and forth pulse size and jump-speed still matters when it comes to wavelength of energy transfer. Dark matter automatically granulates, as in set theory data mining, to UH-change the dimensionless R/G so that it anthropically goes from unity to 1/h as the human mind’s eye proper numerical range, in cgs units,  for energy density! Please get use to this UH-- as felt and seen human anthropy!

How did Einstein and all the others miss the obvious mechanics and grab onto early math inference technique experiment control and prediction, instead of gut feel fluid mechanics as driven by UH? And how could Einstein not see an ongoing AC Mode version of his E = Mc2 ? Visible matter is spread rather uniformly throughout the local cosmos and its building block atoms are well known to routinely absorb and emit electrons that occupy spherical shells inside, surrounding a nuclear core.

Why not let the mass of the ubiquitous electron be all that is ever measured as energy? Let mass on the right side of the energy-matter relation then be a count of electrons whose individual mass is equal to Planck’s constant, h, whether stored inside the atom (left to right operation) or spread out as lighted distance energy in open space at the speed of c (the right to left operation).

For both modes of E = Mc2, we have an infinity of atoms constantly “doing it” in universal resonance - to both routinely absorb an emit a double infinity of electrons. The constant alternation of so many electrons has to be what binds all bulk matter including black holes, marks the energy state of atoms, and comprises EM energy as observed and measured at all frequencies of the spectrum! 

Asked another way for emphasis, with so many electrons as radiation everywhere, where does the atom keep them all, and if they serve to bind bulk matter, why not the strong force binding of the nuclear core itself! What better way to solve the still mysterious forces of the atomic nucleus?

Universal Harmony (UH) is re-written with a new dimensional homogeneity as  (R/G = 3v2 = (√M, where ( is the 3-axis Electron-Wave-Unit Energy Vector and its hidden-dimensionality applies to both sides of the energy matter relation, E = Mc2, with 2 axes of energy not operative in the familiar right to left operation. One here calls the right to left the asymmetric (one axis) Electromagnetic Mode and the left to right, the spherically symmetric( 3 axis) Gravity Mode. The spherical symmetry of the left to right Gravity Mode is pre-existent relative to bulk visible matter, and ongoing in every gravity field whether it currently hosts or is incapable of hosting bulk visible matter or not. The black hole of every field is capable of 3-D spherical growth/decay (AC Mode) hosting of electrons. 

For a stable visible matter populated gravity field, the amount of asymmetric 1-axis electrons being expressed as light (right to left operation) in open space at any given time is c-squared or 1020 for every electron that is being stored as mass in an atom. 

Put another way, for every atom that is currently absorbing an electron falling under gravity, there are 100 million trillion that are being released electromagnetically to form a vibratory closed loop in space that acts to bind the atoms involved - to become a functional part of something(s) larger. 

For every stable, visible gravity field, the ratio of measurable energy to mass, E/M equals a constant open space electron back and forth vibration frequency of c-squared! How serendipitous is that! The universe is finally closed and stable and subject to the Old One as designer-god-UH at last! But can we now accept that our current feel for reality is Wheeler-complained stupid? And can we long-term-accept the education costs in having to start over in physics, as well the immeasurable cost in terms of academic ego? When the huge increase in free (nature-renewable) energy is clearly seen as a result of new theory adoption, the restart will be automatic and likely just in time to make sure we can survive the inevitable death of our Solar System. 

Finding the atomic black hole dynamics that really does make it all so

Einstein’s “excess radius” analogy was used to initially describe the notion of space curvature, and implied a central point in the gravity field of finite radius, within which Newton’s gravity energy law did not apply. The R for distance in Newton’s E = GmM/R = 3v2, could not reach all the way to the center, but had to stop at the outer boundary of the maximum density center of the field. Einstein failed to follow up on the clear implications of this analogy because his adopted GRT math could not embrace it! Many years later in a 1950 Scientific American description of his theory, his last sentence suggested that new math methods might be required to have as satisfactory final theory. His once incredibly-penetrating mind’s eye needed to again be free of complicated math. He would have then seen that the center of the atom as gravity field had to have a finite radius, maximum surface spin and mass black hole–to dictate space curvature at every electron-hosting, concentric shell surrounding it. Then he could have argued better with Bohr about the Old One!

Einstein’s excess radius should have led his little finger of intuition to discover the h and c symmetry produced by the atomic black hole (BH) – a growth/decay engine that makes all visible matter possible, from the individual electron to the endless count of star system nebulae that populate the local cosmos.

 Every atom of the periodic table has an immutable 10-14 cm black hole which may AC Mode grow & decay its effective radius precisely as required to mark its energy state at or above ground level. Here is the required mind’s eye litany.

1. The Bohr model is no more as the “nucleus” of the atom does not consist of vague assembly of protons and neutrons, but is a 10-14 cm immutable black hole with a number, n, of concentric  “neutron shells” that were once proton shells, with at least one remaining partially populated proton shell  just outside with its companion Z-electron.  The number, n, is the atomic number that increments the periodic table.

2. As the atomic number goes up, it is a count of both neutron and proton shells and in-out oriented Z-electrons. The Z-electron shuttles between its proton shell home and the light-tangible surface, here called the c-boundary (light speed of circulating dark matter) of the atomic field. The Z-electron has an average mass of two circular orbit electrons, with ability to absorb or emit one circular orbit electron at the c-boundary of the atomic gravity field. The Z-electron routinely leaves the proton shell to travel to the atom’s c-boundary with a deficit or surplus of one circular electron. In this away, a proton shell may loose or gain an electron as need be. 

3. Each proton shell of an atom rotates around the BH core and is capable of storing up to 2/h electrons (200 trillion trillion!). When a proton shell is full, the core in-out oriented Z-electrons suddenly reach out to vertically lock the shell to make it a neutron shell that no longer rotates. The new neutron shell is then the new outer boundary of the BH. The c-boundary of the atom moves outward proportionally.

4. The range of n is told by the established periodic table, which means that the given atom also marks its energy state by the increase in its average c-boundary  radius back and forth oscillation, and by the total number of circular orbit electrons alternately being absorbed and emitted there, as shuttled by the Z-electrons.

5. When an atom looses a sufficient astronomical number of circular orbit electrons, the BH decays by one neutron shell, to cause a sudden whole-field c-boundary average radius shrinkage; here named a neutrino (really graviton) release event.  The sudden addition of a neutron shell also triggers the whole field vibration, but with a neutrino (really graviton) absorption event. 

6. It is the breathing in and out vibratory energy status of the atom’s average c-boundary radius, Rc, that determines the frequency of electron absorption and emission. The standard frequency, wavelength, speed relation, 2πRcf = c, 

was mistakenly rejected as non-applicable to the atom by Bohr. Atom frequency is an un-measurable quantity on the order of 1018 or one million trillion cycles per second. Atoms in the emission-spectra-calibrating lab, automatically and conveniently resonate in molecular size rings. The radii for the radiating rings are much bigger; on the order of 137 times larger than Rc  for the typical atom -- as used for spectra data accumulation. This significant redshift built into the spectra data  caused a most serious misinterpretation of star data as collected by Edwin Hubble: falsely leading to the expanding universe concept of Big Bang Theory.

7. The growth/decay range of c-boundary average radius of the typical atom due to electron oscillating energy state change, is on the order of 10-8 cm plus or minus a factor of one exponent of 10, so that hydrogen is about 10-9 cm and the maximum theoretical average c-boundary size, an element occupying the theoretical top of the periodic table with n = 1/h, is a unit mass atom,  and would measure about 10-7 cm, or conveniently for theory purposes here, Rn = .667259x10-7, Newton’s gravity constant. This suggests that the entire range of possible frequencies for atom vibration frequency of radiation is limited to that part of the electromagnetic (EM) spectrum from 10-17 to 1020, or 100,000 trillion to a billion trillion cps.

8. 1/h2 ≈ 1052 is the mass in grams of all black holes (BH), and is the count of G-size Higgs particles making up the surface of the atomic BH core at 10-14 cm. The BH core is constructed of 1/h spherical concentric, circular electron hosting shells, strong force locked by 1052 in-out oriented Z-electrons. Each of the neutron shells is fully packed with 2/h circular orbit electrons as phase-locked by the Z-electrons. The Z-electrons run from an Inner Grain (IG) of maximally vibrating plasma of 10-40 cm radius, the same size as the Higgs particle defining the outer surface of the BH atomic core, to the 10-14 cm outer boundary. There is no rotation of individual shells, but the BH core as a whole rotates with a maximum speed of rotation and vibration of vmax = √1/3h  ≈  237c. The IG vibrates only (no rotation) at a frequency of 1066 cps at each of its 1052 surface defining Higgs particles, representing the tightest, no singularity curvature of space-time. The IG is in fact the Cosmic Censor of Singularity that Roger Penrose jokingly wrote about. 

The universe in dimensionless perspective 

One now looks at the mechanical structure of the universe in a dimensionless perspective. Table 5-4 is based on the logarithmic growth spiral version of UH in the planar field and assumes an isomorphism of spherical symmetry of dark matter circulation. That is, as shown in the table, the eR/G = 3v2 for least friction rotation and vibration motion is allowed to increment in values per the fractal expression for shell number. A fractal-compatible exponential function involving just roots of Planck's Constant, h, is derived to fit known data as given at the bottom of the table.  Nested gravity field entities named in the table from atom and molecule typical Higgs particle sizes, to the cosmic field size; use only h and c.  Planck’s constant is defined by h = 2(Gminvmax, and is the unit mass angular momentum of the smallest (10-40 cm) Higgs particle that defines the energy surface of the 10-14 cm atomic BH. 

Dimensionless mass pt radius ratio, R/G at maximum density is (1) the inverse of minimum energy "pulse" quantum, h, and (2) electron-ring number of Higgs particles, 1/h. Because Table 5-4 is a 3-D mechanistic model, one gives 3-D mechanical meaning to Planck's Constant, h, as both minimum energy quantum and its inverse, 1/h, as maximum energy. Finally, by inserting the Unit Energy Vector, (, in the MOE relation to get r(()v2 on the right side, then GinMmax as the MOE, is constant for the given field and is most useful. If n = 0 is used for the atomic c-boundary Higgs particle, it has a MOE of  unity, where an BH radius of Planck’s Constant, h, is multiplied by a 3-axis rotational energy of 1/h. The Cosmos has a field outer boundary defining Higgs G-size that says that 1/h units of energy is equal to one unit of mass. The Solar System BH radius of unity says that one unit of energy, the electron in orbit inside the atom as universal oscillator, has a mass of h.
The growth/decay, AC mode E = Mc2 volatile nature of the gravity field and entire universe make the curve fitting difficult, but the model can obviously be made to work using fractal 3-D math that precisely fits consistent measurement. The cosmos outer boundary is simply the ideal limit that light can be extruded outward by an atom here on Earth before that light falls back under cosmic gravity to return to the atom. The in-between holisms that we are privileged to see every day, from molecule to Supergalaxy nicely follow the Planck’s-constant-and-c rhythm shown.  

The symmetry of h and c alone, pointed to first by Max Planck, should convince that this theory closely follows final cosmological truth. There is no doubt in the author’s mind that it can be easily developed --If we can manage somehow to get physics to start over again from scratch.

As lifetime curious, cosmologically-oriented but gut-feel practical physicist/math person, this 80+ mind has conceptually understood the best books written on the subject, and would particularly like to say to Roger Penrose of Oxford University, that he needs to come out of the black hole cave of his great mind --to see that his Cosmic Censor of Singularity is real -- in the plasma-cave-core of every atom.

Table 5-4: Structuring the gravity field & Universe using UH and MOE relations

a) Dark Matter Structure for given gravity field holism, nesting level, n, ith shell

	Shell #, i
	Shell Radius Rin
	Shell Depth Gin
	Circulation Speed, vin

	0
	R0n = math pt
	Gon = R0n/(v0n)2
	von = ((R0n/3G0n)

	1
	R1n = R0n(1+h)
	G1n = R1n/(v1n)2
	v1n = ((R0n/3G1n)

	2 
	R2n = R1n(1+h)
	G2n = R2n/(v2n)2
	v2n = ((R0n/3G2n) 

	· 
	· 
	· 
	      

	n
	Rin = R0n(1+h)
	Gin = Rin/(vin)2
	vin = ((Ron/3Gin)


b) Nested Black Hole (BH) Structure of universe in terms of h & c

Top of Form

	Nesting Level, n
	G0n  ( (([h8-n] Higgs Radius
	BH radius, rin = = (([h4--n]
	MOE  = G0nMmax
	Radius r for v = c      *
	Radius r for v = (c      *

	8 Cosmos
	Unity!
	1/h
	1/h2
	1/h2c2
	1/h2c

	7 SuperG
	(( h 
	 ((h/h 
	 ((h/h2
	 ((h/h2c2
	(( h/h2c

	6 Galaxy
	(h 
	 (h/h
	(h/h2
	(h/h2c2
	(h/h2c

	5 Sun 
	 ((h3
	 ((h3/h
	 ((h3/h2
	 ((h3/h2c2
	 ((h3/h2c

	4 Solar S.
	h
	Unity!
	1/h
	1/hc2
	1/hc

	3.x Planets
	((h5 - h
	 ((h  -  1
	variable
	 variable
	 variable

	2 Atom
	(h3
	 (h3/h
	 (h3/h2
	 (h3/h2c2
	Field outer boundary, r defined by v = c for atom & molecule 

	1 Higgs I
	((h7 
	 ((h7/h
	 ((h7/h2
	Not Appl.
	

	0 Higgs II
	h2
	h
	Unity!
	Not  Appl.
	


Substituting G0n = (([h(8-n)]  in G0nMmax = Moment of Energy (MOE) = Rin(vin)2; Rin = [h-n/4]/(vin)2, & Rv=c = [h-n/4]/c2, Rv= (c = [h-n/4]/c. [8 ( n ( 2]. Higgs I and Higgs II are G-size maximum density energy flow particles at boundary of radiating immutable atomic BH nucleus, & at the plasma Inner Grain (IG) of the SS BH, respectively. For Planets: n = 31/9 for Mercury, 31/3 for Earth to 38/9 for Neptune. *Right two columns are shell radius values for the dark matter circulation speeds of c and (c      
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